
SAP ABAP table ECONCARD_D {Business Partner: Concession Card}

ECONCARD_D

MANDT [CLNT (3)]

PARTNER [CHAR (10)]

CON_CARD [CHAR (20)]

CON_CARDTYP [CHAR (10)]

CON_ISSUER [CHAR (4)]

BUT000

CLIENT [CLNT (3)]

PARTNER [CHAR (10)]

 ECONCARD_D-PARTNER = BUT000-PARTNER 
0..N

1

T000

MANDT [CLNT (3)]
 ECONCARD_D-MANDT = T000-MANDT 

0..N
1

TECONCARDTYP

MANDT [CLNT (3)]

CON_CARDTYP [CHAR (10)]

 ECONCARD_D-CON_CARDTYP = TECONCARDTYP-CON_CARDTYP 

0..N

1

TECONISSUER

MANDT [CLNT (3)]

CON_ISSUER [CHAR (4)]

 ECONCARD_D-CON_ISSUER = TECONISSUER-CON_ISSUER 

0..N

1


